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1. MBO (Management by objective) & MBO (Management buy-out) (6% )

2. Transformational leadership & Transactional leadership (6% )

3. BSC (balanced score card) (6% )

4. Knowledge management & Technology management ( 6% )

5. TNC (transnational corporation) & MNC (multinational corporation) (69 )
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P4 ~ Multiple Choice ( Identify the best answer in each question) (30% - 2%for each)
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1. Which of the following would be least likely to enhance acceptance of a manager's commands?

(A) the manager posses adequate communication skills

(B) use of the complete chain of command to issue orders

(C) adirect line of communication between manager and subordinate
(D) possession of adequate communication channels

(E) use of informal communication channels

2. When every organization member understands his or her own job and how the jobs fit together to

provide final products to the customer, Senge would characterize that as:
(A) systems thinking

(B) team learning

(C) shared vision

(D) social responsibility

(E) personal mastery

3. Which of the following is most accurate when describing the management thinking that emerged as a

result of the Hawthorne studies?

(A) social relationships are unimportant in worker performance

(B) the emphasis should be placed on task efficiency in job design

(C) job design should involve the bonus system

(D) managerial problems should be solved through the utilization of management science techniques
(E) the human variable in organizations required much more analysis
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. Because Jamie is the manager, her subordinates do what she says. This is an example of:
(A) social power
(B) authority
(C) personal power
(D) total power
(E) position power

. In managing information systems, an organization can improve IS effectiveness by managing:
(A) user satisfaction, IS workforce satisfaction, and customer satisfaction
(B) the IS workforce, line managers, and staff managers
(C) security, speed, and accuracy
(D) technology, personnel, and money
(E) user satisfaction, security, and the IS workforce

. The correct order of the steps in the innovation processiis:
(A) inventing, integrating, developing, diffusing, monitoring
(B) developing, inventing, diffusing, integrating, monitoring
(C) inventing, developing, diffusing, integrating, monitoring
(D) developing, diffusing, integrating, inventing, monitoring
(E) inventing, diffusing, developing, integrating, monitoring

. The environmental level that contains components normally having arelatively specific and immediate
impact on managing the organization is the:
(A) task environment
(B) operating environment
(C) general environment
(D) internal environment
(E) none of the above

. Our manager always believed an organization only requires an income statement once a year. We have a
very tight profit margin in our business (only 3 cents on the dollar, if we are running efficiently). By
only requiring an income statement showing income and expenses annually, the manager is ignoring
which fundamental of successful controlling?

(A) the control process is appropriate to the control activity

(B) the control process must be timely

(C) the control process must be focused on the appropriate organizational goal
(D) the control process must be communicated to appropriate people

(E) none of the above

. Managerial skills that involve using specialized knowledge and expertise are termed:
(A) technical skills
(B) conceptual skills
(C) human skills
(D) planning skills
(E) analytical skills
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10. The main challenges of using the contingency approach are all of the following EXCEPT:
(A) competently implementing the appropriate tactic
(B) choosing the management tactics best suited to the situation
(C) choosing the appropriate management science technique
(D) perceiving organizational situations as they actually exist
(E) applying scientific management effectively

11. A "secret shopper" that comes into a restaurant and observes the quality of service and food she
receives is an example of:
(A) precontrol
(B) postcontrol
(C) concurrent control
(D) customer control
(E) feedback control

12. The process of assigning job activities and related authority to specific individuals in the organization
IS termed:
(A) decentralization
(B) delegation
(C) responsibility
(D) accountability
(E) authority

13. Nick is 29 years old and has just been promoted from sal esperson to sales manager for his company.
Nick is most likely in which stage of his career?
(A) exploration
(B) decline
(C) maintenance
(D) stagnation
(E) establishment

14. The process of applying a new ideato the improvement or organizational processes, products, or
services is called:
(A) continuous improvement
(B) innovation
(C) TQM
(D) competition
(E) creativity

15. The right to perform or command is:
(A) accountability
(B) authority
(C) responsibility
(D) delegation
(E) centralization

H3FI > BT3F
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— ~ Define the management of technology and give an example based on your knowledge. ( 109 )

(PJRL @ 1=

P4 ~ (1) Describe technology progresses through a three-stage technology life cycle. ( 10% )
(2) Explain subtechnology life cyclesin multiple generations of innovation shape the overall technology
life cycle. (109% )

(PJFA @ (=8

+ ~  Why are strategy and the management of technology and innovation so interconnected? ( 209% )

(PP @ HIL =)
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